LED,LCD TV Table stand
Emrpamédia Baon tnAedpaong LED, LCD

RATED

Read the entire instruction manual before you start installation and assembly. If you have any questions regarding any of the instructions or warnings, please contact your
local distributor for assistance.

CAUTION: Use with products heavier than the rated weights indicated may result in instability causing possible injury.
+ Mounts must be attached as specified in assembly instructions. Improper installation may result in damage or serious personal injury.
+ Safety gear and proper tools must be used. This product should only be installed by professionals.
« This product is designed to be installed on wood stud walls, solid concrete walls or brick walls.
+ Make sure that the supporting surface will safely support the combined weight of the equipment and all attached hardware and components.
* Use the mounting screws provided and DO NOT OVER TIGHTEN mounting screws
+ This product contains small items that could be a choking hazard if swallowed. Keep these items away from children.
« This product is intended for indoor use only. Using this product outdoors could lead to product failure and personal injury.
IMPORTANT: Ensure that you have received all parts according to the component checklist prior to installation. If any parts are missing or faulty, telephone your local
distributor for a replacement.
MAINTENANCE: Check that the bracket is secure and safe to use at regular intervals (at least every three months).
AMIRIDIS - SAVVIDIS S.A.
* Bystreet 87, 17th November str. -
EMO Zone - P.C. 55535 - Pylaia
Thessaloniki - Greece
Tel : +302310 944944
= Web Site: www.amiridis-savvidis.gr
Mnv gexivijoere Tv TomroBETan Tou TpoiévTog wpic va SiaaceTe kai va kataAdBete TPWTa TIg 0BNyieg Kal TIg f Tou
OMOIABATIOTE aTTopia GXETIKA e TIg 0BNYIES f TIS TPOEIBOTIOIAGEIS, ATIEUBUVBEITE e ToV TOTTIKG BIVOpEQ TOU TPOTBVTOG,
NPOZOXH:

YpapovTal o auT6 10 QUG emong. Av éxere

« H10MOBEMON GUTOG TOU TIPOIGVTOG TTPETE! Vel YIVETal TT6 KATIoI0V ToU BIGBETEI TEXVIKE IKAVOTITEG Kall EMTIEIPIa KaBAG KaI KATAVGNGT TV BATTKGV TEXVIKY EVWOIRY.

« BeBaILBEITe 61 1) EMIQAVEIQ OTAPIENG UTOPE] VA GUYKPATIOE! TO GUVBUAO}IEVO BPO TOU TTPOTOVIOG KAl GAWY Twy GUVBEBEYEVIDY GUOKEUWY Kal EEpTNUATLY.

« M umepBaivere oré 10 péyiTo Bapog pBpTWONG

« AuT6 T0 TIPOTGY TPOOPIZETaI MV Y10 XP1OT OE EOWTEPIKOGS XiPOUS. H XpTN T0U O EEWTEPIKG XPO UTOPE| Va TPOKAREEI {Ic OTO TTPOIGY Kall TPOTWITIKG TPAUTIONO.
THMANTIKO: BeBaiweire 611 AGBare 6ha Ta e€apTiata T AloTag eEaprnuaicov TipIv EEKIVAGETE T T0T0BETan. Av AeiTouv cEapTAGTa i EXOUY I, ETTIKOIVWVAGTE He ToV EUTIOpO Yia
aviikardoTaon.

ATIOKAEISTIKOE ANTITPOZQMOE

Aoipibng Zapidng AE.

17n¢ NoeyBpiou 87A | TK. 55535 | Mukaia | Geooakoviky

Tk 2310044944 | Fax: 2310944940 | ww.amiridis-savvidis.gr




CO0BOOOO0OO|

coceccocooo]

Please install with the tool above.

EykaTaOTAOTE TO PE TO TTAPATIGVW EPYOAEiO

— f'/u_a_ : ol
’ ' B
0 I
o o g
= o e rra—— i —
—
| 1 o e B2
i [
B3
—= B4
A1x6 A2x3 A3x7 A4x3
@) o R
A5x4 A6x4 AT7x2 A8x1
) © @@
M5x14 (x4) M6x14 (x4) M6x30 (x4) M8x30 (x4)
M-A M-B M-C M-D
M8x50 (x4) (x4) (x8) (x8)
M-E M-F M-G M-H
(o i) i




